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SYSTEM of Equations in [AX + By = C] form. | fmie

using infercepts
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1) Atest has multiple choice questions worth 2 polnts aplece and sh 6t q

‘pointsapiecé There are a total of 30’ questions. The test is worth a total of
Define your variables: K= Multch _‘{ = Shovk ans. sof
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Find the x-intercept and y intercept for both equations. 2
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Graph your system on the same coordinate grid. 5 >
(MC Questions; SA Questions) Use an interval of § on the x-axis 0 5las »2s % 35 0
and 5 on the y-axis)
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Sxate the ?ordlnates of intersection. Explain what these coordinates tell you about the situation.
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2) Justin has saved ﬁve dol|a bills and slngéess! Justin has a total of85ibills. HIS savings a worth a '
total of S
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Find the x-intercept and y mtercept for both equabons % 6o
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Graph your system on the same coordinate grid.

(Fives, Singles) Use an interval of 5 on the x-axis lo

and 10 on the y-axis >
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State the coordinates of mlersecuon Explain what lhese coordinates tell you about the situation.
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Homework is continued l:}




